EAGRAROBREERT — 2 N— IBISH —F

202154 A308 (&) 2BA#5H

PRl > % 3 336A 47 3FKE

EEE IR

[A&E£] 17 :2,100,000  ~ 23 :840,000 37 :525,000 §

4 7% 315,000 53 :210,000 [

BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
— N . EHEZ 1:12. 1-1 7.4 — 2 491 | BHBEZ (KH)
TATFTLA 3 20 (_)8 8 (_93) I V=329 ()
RIZXRT—LYF— BAIO—-RZ— NEHS
. s = FOEER :13. - . — SR (KH)
WE=TZ>T vk e 54.0 (11 113/40) oo %9 1 ?_455) ) Ny E—RY 1Y
LIZART—WoF— B:FI2NT—IR ¥H RE
e . I EEE :13. — . — IEMERE (K3H)
£y o | it L A B IR - -+
Ryt rR BINFHAREHIS BEX &Y K
TI9II—*AFK 3 | EER 1:(123).6 44 318 - | 5 <4+730) tg;—g%t (I\HE)
L:ALTF—Z2 B:ANRO-IL HiE  EAA
.= EIREER :13. - . — EFRE (KH#)
FT—=IKTZ7 "3 5.0 ( 137L>6 ¥ 5.2 S (4:131) HEAS
R:T7ITRXFTaN BNVT T THERS
£ 3| BEAH 1:13.8 n-11 | 87.0| — 6 433 | mEEEF (KH)
6l5/8|77)F—1 77 5.0 ) 46) ") AUL Tk
L:)—FHI59> B:XA4A—-rEJL Y b 2R s
s LR 4 3 | RHES 1:13.8 2-2 38.2| — 4 501 | BREIE(E (KH)
7iajn 7~ R 5.0 (") t1a) | ) AFETER—LT 2T
T ART—NTF— B:T7—hrJY3v3 peltie]
. = Bt : — — ScHFRBEA (/)\HE)
71813 a9 I T4 T4 4 3 A53.0y IE1]3%55 5-6 37.9 8 zzg? s
R:Z/ oLV BVavI 7477 5% EE
- : P s, . 0| — BAEZ (K3)
9 10l LT« —F—y % 3 oy 1713&9 12-12 37.0 1 (4_812) -t
L:7UF—v B:R)-—Ft* [Esgse]
WS i 3 | EEX 1:14.0 10-10 | 37.4| — 3 468 | ETEA (A\iA)
10/5/7| P77/ FU—»4A 54.0 (3/4) 43) | FIN=ES
ARG TTR BHTIAFI= RS
o = t 3 | AfEEX 1:14.1 7-8 37.8 — 7 489 | EILBEEE (/\iA)
11 3 JaY 7T T4 % 56.0 (1/2) +1) (#) JV—>77—L
R:F14—TTVI>F BIAINDN BtHFREMASHIAT RS
EHE : = — SiBEE (KH)
12l8l1a| F2a—ruz it 3 B 171:[1:)2 7-9 37.9 10 (4_338) LT
x>y ¥/¥ex BYALEbECT R BHEAUS
sO— 3 | DIEEANIE 1:14.4 3-3 38.8 — 12 | 477 |SETIC (DK
13)1]1 | %~~H 0 o) o) | BAmE
kNS EL— BIVIZ%—% S HLTF— I
3 4 3 | THE 1:14.7 14-14  [37.0| — 14 | 456 |FsEAE (KH)
14]7|12| S"VA 54.0 (1 1/2) vy | BB
R:7x/—*/ B:7L>FFF¥O JI3oTFT7—L4
® 1 —F—@EBIERL
13—7-—
2a=5"=
Ja=7= 9,11,1,2,13,4,(3,14) ,6,7,8,10,5,12
43—+ — 9,11,1,2,4,13,6,3,14,7,8,10,5,12
[ N5
B 9 440M 714K 4-9 330 e E 3-6 410 JEE 4-5-9 26,920/
B B 9 180M 5-9 9,180H e B =3 1,120 JEE 9-4-5 87,890
4 1304 4-5 4,920 B = 4-9 580M
5 2,340M B H 9-4 1,570

ARICOVWTRDTEEERROODE. TR LIV,




